91

07x225
hp=91

07x225
hp=

h=3,68

15 +20 °C
dwym: 3496 W

85x172 (f=58)

hp=91

13 +20 °C
dwym: 3003 W]

14 +20 °C
dwym: 1134 W)

85x172 (f=58)

hp=91

23 +20 °C
dwym: 3445 W)

107x225

hp=91
107x225

hp=91

3,60 17 +20 °C
dwym: 3309 W

24 +20 °C
dwym: 0 W
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22 %16 °C
dwym: 3399 W
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Rzut Il kondygnacji - koncepcja

D (O J( )T

=86

15x225
hp

18 +20°C
dwym: 1390 W

h=3,68

[GEOEOEGOREGNG RG]

D () J( ) )

109x21
hp=97

107x225
hp=91
107x225
hp=91

21

+20 °C
dwym: 2586 W

h=3,68

+20 °C
dwym: 2335 W)

19 +20 °C
dwym: 2765 W

h=3,64

20 +20 °C
dwym: 3241 W)

107x225
hp=91
107%225

hp=91

3%; Pomieszczenie

107x225
hp=01

107x225
hp=91

ogrzewane/chtodzone




